> A
A & 0l & AF 2 E A A
20149 S0la LB &Z 2l
AN EF 2l
MY A
ool BAHT B L CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
sZ2el 24,239,913 18,248,400 5,991,513
= 16,157,794
< 8,049,119
£ 33,000
gelstdygdad 2,123,850 3,189,850 A 1,066,000
= 800,000
< 1,323,850
sy @ L3t 2,123,850 3,189,850 A 1,066,000
= 800,000
< 1,323,850
SE=sMITNJACH 54 350,000 262,000 88,000
307 21201 A 350,000 262,000 88,000
02 BIZHEAMNE XS 350,000 262,000 88,000
Osg=sMaAXNJAAH XA 350,000
g Y R= 1,268,850 2,462,850 A 1,194,000
= 800,000
= 468,850
201 ¢4l 30,000 30,000 0
01 At 2t 2l 30,000 30,000 0
OHUBINE EZ8x=2 30,000
203 YR =2l 2,850 2,850 0
03 A FAH S =AY 2,850 2,850 0
otz aclgex=a 2,850
307 21201 A 36,000 30,000 6,000
02 QIZtFAE X 36,000 30,000 6,000
OFsty AX-=201(220) 36,000
403 MtXISHHE =0l & 1,200,000 2,400,000 A 1,200,000
= 800,000
< 400,000
01 AXSHMA=2EE 1,200,000 2,400,000 A 1,200,000
OsFd 34z ogaeldy A8 1,200,000
= 800,000
< 400,000
A O 2 AHTI O CH 2K = & 130,000 90,000 40,000
308 XX EHH SOl A 130,000 90,000 40,000
01 AXHHILEES 130,000 90,000 40,000
OXHUA #H =0 2E= 130,000
$E2E HofXE F=H A2HSXA 375,000 375,000 0
307 21201 A 300,000 300,000 0
02 QIZtFAE XS 300,000 300,000 0
OgZ2g HAXNY s AT A 200,000




AN EF 2l
MY A
ool BEUY B 2 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OMolietXlS RREEAMD F2A 2ol 2l 100,000
308 MtXIEHSOIH 75,000 75,000 0
01 AXHHIBLEES 75,000 75,000 0
OgZ2y Ok =89 A2 75,000
MetZol 2el 3,105,769 4,022,850 A 917,081
= 516,604
< 2,589,165
tHorg zel 2,798,700 3,666, 358 A B67,658
= 406,000
< 2,392,700
SINERES WR 2,267,000 2,267,000 0
308 MtXIEHMSOIH 2,267,000 2,267,000 0
02 8+=u2= 2,267,000 2,267,000 0
OostgzaMERg3 2,267,000
SEHHER U= WF 17,900 17,900 0
308 XX EHSOIA 17,900 17,900 0
02 8+uF= 17,900 17,900 0
OCZdgtiis=2u=za 17,900
dOItARIE N E5 K& 228,800 883,458 A 654,658
= 176,000
< 52,800
403 MHtXISHHE X201 H 228,800 883,458 A 654,658
= 176,000
< 52,800
01 XM A=2EE 228,800 883,458 A 654,658
O&EHINAXSI ESAHY 228,800
= 176,000
< 52,800
SANHEAEE J=X& 55,000 55,000 0
307 21201 A 55,000 55,000 0
02 2t Ex= 55,000 55,000 0
OZHEHEASE Jl=XE 55,000
IS AES 230,000 230,000 0
= 230,000
403 MHXSHHSA=0l& 230,000 230,000 0
= 230,000
01 HXESHHMA=E X 230,000 230,000 0
OIS 23 150,000
= 150,000
O&IINSA SHLH £X 80,000
= 80,000




SA: BEBAD
Ha: ME3Do e
ool By e CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
323 el 307,069 356,492 AN49,423
= 110,604
< 196,465
SIS AE 22 26,600 33,600 AT7,000
202 Oddl 23,600 23,600 0
01 = LH 4 Hi 23,600 23,600 0
OEZHEANE 38 2RFA 23,600
301 et a = 3,000 10,000 A7,000
MIIEBE4d3 3,000 10,000 A7,000
Ol HHAS HHEH L &= 2,000
Ostdgaln(128) Tazd 1,000
s#ZSAH &4 117,136 152,848 A35,712
307 glz2tol & 10,000 10,000 0
02 QIZtFAE XS 10,000 10,000 0
OadHEISMYE = 10,000
308 XXIEHHSOIA 107,136 142,848 A35,712
01 AXNHHBANEES 107,136 142,848 A35,712
OadgdsAd 29 107,136
SSEAJLZAAA 25 163,333 170,044 A6, 711
= 110,604
< 52,729
402 2I2H X201 M 158,195 164,880 A6,685
= 105,466
< 52,729
01 RIZEAt=2E X 158,195 164,880 A6,685
O==SJZZAAA 2= 158,195
= 105,466
< 52,729
403 MtXISHH S0l & 5,138 5,164 A28
= 5,138
01 XM A=2EE 5,138 5,164 A28
O=SJZZANAA 2= 5,138
= 5,138
HOI22 otEF Hel & 2el 18,930,494 10,966, 700 7,963,794
= 14,841,190
= 4,056,304
£ 33,000
HIIS9 B ARMel & 2el 18,930,494 10,966, 700 7,963,794
= 14,841,190
< 4,056,304
g2 33,000
sEHHE =AHA243 XA 536,380 560,000 A 23,620




2N

Ma: o2 OHFE Hol U el
Selr HIIS2 ¢EHXe ¥ 22l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

= 268,190
< 268,190

308 XXM SO A 536,380 560,000 A 23,620
= 268,190
< 268,190

01 AXHHILEES 536,380 560,000 A 23,620
OsZHHE =A243 X& 536,380
= 268,190
< 268,190

HI<IMOHE X HHl XA 2,714,800 495,000 2,219,800
= 2,468,000
= 246,800

403 A X EHHS 20l A 2,714,800 495,000 2,219,800
= 2,468,000
< 246,800

01 X HHMA=ZLE L 2,714,800 495,000 2,219,800
OHII 40 X Hbl 2,714,800
= 2,468,000
< 246,800

HOISHE AL X XN 4,434,100 1,963,500 2,470,600
= 4,031,000
< 403,100

403 MtXSHHSA=0l& 4,434,100 1,963,500 2,470,600
= 4,031,000
< 403,100

01 X SHMA=2E X 4,434,100 1,963,500 2,470,600
=SS HEAE FH 4,434,100
= 4,031,000
< 403,100

A2PAE X K& 7,474,000 3,732,000 3,742,000
= 6,060,000
< 1,414,000

403 MHXISHE X201 & 7,474,000 3,732,000 3,742,000
= 6,060,000
< 1,414,000

01 X SHHAN2E= 7,474,000 3,732,000 3,742,000
Oa2AlE &X 7,474,000
= 6,060,000
S 1,414,000

HOIZ2+=H % X s 169,000 149,000 20,000

307 21201 A 34,000 34,000 0

02 QIZtFAE XS 16,000 16,000 0
OCREENEHZAIEEE L= 16,000

04 QIZtHAIE XS 18,000 18,000 0
O3z oe dA 29 18,000




2N

g HYI=9 ¢EA Ml & 22
Selr HIIS2 ¢EHXe ¥ 22l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 XXM SO0l A 115,000 115,000 0
01 IXNHHBNEES 18,000 18,000 0
Ol s 18,000
08 JIEtEE 3 97,000 97,000 0
Os2AEY 3l=AlY 2E€2 97,000
403 UHXSHHSA=0l& 20,000 0 20,000
01 HXSHMA2E X 20,000 0 20,000
OXEmes =8 X 20,000
Mg Dldel & HMelAld K& 968,214 1,212,200 A 243,986
= 800,000
< 135,214
£ 33,000
308 XtXIEHH SOl A 950,214 972,200 A 21,986
= 800,000
< 117,214
£ 33,000
01 AXHHIYEES 950,214 972,200 A 21,986
Oot&Eot= MAgJl HatAY 950,214
= 800,000
< 117,214
£ 33,000
403 MHXSHHSA=0l& 18,000 240,000 A 222,000
01 HIXESHMA2E X 18,000 240,000 A 222,000
OHJIEXMelAE =AY XA 18,000
HIOI2X2AEES 2,634,000 2,855,000 A 221,000
= 1,214,000
< 1,420,000
403 MtXISHHE =0l & 2,634,000 2,855,000 A 221,000
= 1,214,000
< 1,420,000
01 AXSHMA=2EE 2,634,000 2,855,000 A 221,000
Os0E HII= SEXMAE & 2,634,000
= 1,214,000
< 1,420,000
HE2IZH (222 ) 79,800 69,000 10,800
JlE3l 79,800 69,000 10,800
Jl2&tl 79,800 69,000 10,800
201 L2l 37,800 32,400 5,400
01 At 22l 37,800 32,400 5,400
Ostg el g2z 37,800
202 (4 Hl 37,800 32,400 5,400
01 = LH 4 Hi 37,800 32,400 5,400
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